
Class:Class 6 Subject: Maths Topic:Decimals

S.No Question Answer Options

1
The sum of two numbers is 31.021. 
If one of them is 11.56, then the 
number is __________ .

19.461

17.461

18.461

19.561

19.461

17.461

18.461

19.561

2

10.1

1.1

1.01

10.01

10.1

1.1

1.01

10.01
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3

202

24

20.02

20.22

202

24

20.02

20.22

4
Add the decimal numbers : 673. 1 + 
70. 0005 + 1.65 + 9.634 = 
____________

Answer
____________

Answer
____________

5
True

False

True

False
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Correct Answer is
1. Correct Ans option is 19.461
2. Correct Ans option is 10.1
3. Correct Ans option is 20.22
4. Correct Answer is 754.3845
5. Correct Ans option is False

3

© 2015 Learning World Education Solutions Pvt. Ltd ( LWES). Excelonz is a brand of LWES. All Rights Reserved. This content may not be used, altered, copied,re-used or redistributed without prior consent from LWES.


